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Bo XL IEOR LI S A A B DL R
BIEEBXASHBHLEY,

*-FEl—MEME. HITELS = ’éﬁ (S

+S) 5 P, fE M EMEREEE,
B (5),

S17073em?)
/
©.54 / ,
e
0.52
0.50
) N N - —
0483 10 5 20 25  P2(emzkfl)

B 5 BAES~PAEML

BRACRATIAS 105 24451 156 BA 4] 32 s A
2 S~P,fiAz (8) RRimE, FH53:M
HIfEEL B

Bt i i ky, P.=20.4cm Kk,
KEEHRP,=763.5 mmHg, ¢ =21.5C

Bt 2B (5 )S~P sk, 24 P,=20.4
cm fif, S =0.548(10"%cm?);

HAN (8) HHEFHQ,=1.278%0.548

760 X 294.5 X 20, 4\":
( 763.5 X 273 )EDQ6—3.16

H—FE, TAINE (3), & (2)%
e E ML, FA (2) SEhhgkmk
SEMHILVPES LR &AMA—3. HP.=20.4

cmif, ZfE Qv=3.17 2

sec °

B, @l —ARNMBERBHEE
SRPAHEFT. AKERAESER, Gk
AR AN THREKRE, MALHER
He g e th 2 Ay Sk %

=, HLENEEETHEFNEN

ATRGHAERF, QRLAHBHEN
— 46 —

ml
sec °

A S F i Ch 2B AKX,

A, THAMREE (5), %P, FAE
M, FFMS mxtpilfEZRs, HBHEMT
e

Pa(d) 50 AS() A5 (D)

6 0.485

7 0.492 0.007

8 0.499 0.007 04000

9 04505 0.006 ~0.001
10 0.509 0.005 - 0.001
11 0.514 0.005 0.009
12 0.518 0.004 ~0.001
13 0.523 0.005 0,001
14 0.527 0.004 0.000
15 0.531 0.004 0.000
16 0.534 0.003 ~0.001
17 0.538 0.004 0.001
18 0.541 0.003 - 0.001
19 0.544 0.003 0.000
20 0.547 0.003 0.000
21 04550 0.003 04000
22 0.553 0.003 0,000
23 04555 0.002 ~0.001
24 04557 0.002 0.000
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2. BF

201
202
203
204
205
206

208
209
210
211
212
213
214
215
216
217
218
219
220

221
222
223
224
225
226

print
print
print
print
print
print
print
print
print
print
print
print
input
print
print
print
read

print
print

print

tab (10) :*the calculation of the air permeanbility k

‘the formulas®

*s=,443 +,0073%p2 — .000087+p2 T 2°

‘u=.,0181*(273 +t)/273) 1 .79"

*q=1,2785%(760% (273 +t)*p2/ (273+p)) 1 .5*

‘I = 2#1xpxuxg*1000/ (f=(2¢p + pl + p2) *(p1/760 — p2/1033.6)

tab (25) :°the so ur ce data“

t,p. I.d

*t="lt, ‘p=‘Ip, *l1=:l, *d="1d

tab (10):°n°: tab (20):*h°: tab (30):°pl°: tab (40):°p2*

let v=0

if h=0 go to 230

for i=1 ton

let y=y+1

let z=ish+r
read x, pl, p2
print tab (10)

next i

goto 235

for i=1 ton

let yv=vy+1

read z, pl, p2
print tab (10)

next i

dim k{(n)

restor

read t, p, !, d

ly: tab (20):iz: tab (30):pl tab (40):p2

Tyl tab (20):z: tab (30):pl: tab (40):p2

let u=,0181%((273+t)/273) T .7y

for i=

read x, pl, p2

1 ton

let f=3.14159+d ] 2/4



242
243
244
245
246
247
248
249
250
251
252
253
254

256
257

258
259
260
261
262
263
264
265
266
267

268
269
270
271
272
273
274
275

276
277
278
279
280
281

let s= .443 + .0073%p2 — ,000087+p2 T 2
let q=1.278%s%(760% (273 +t) *p2/(273%p)) 1 .5
let k = 2¢lspeurq*1000/ (f*(2#p + p1 + p2) *(p1/760 — p2/1033.6))
let k({) =k
next i
let m1=k(1)
let m2 =1k (2)
for i=1 ton
if m1>k(i) goto 252
let ml1=k(@)
if m2<k(i) goto 254
let m2 =k (i)
next i
print
print

print tab (10):°the report of the air permeanbility calculation®

print
print *n°®: tab (7):*h(m)*: tab (15):°k(md)*
print
print
let v=0
if h=0 goto 270
for i=1 ton
let y=v+1
let z=ixh+r

print y: tab (7):z: tab (15):k(i): tab (30 + (k(i) —m2)*30/(m1 -m2)):

next i

goto 277

restor

read t, p, 1, d

for i=1 ton
let y=y+1
read z, pl, p2

print y: tab (7):z: tab (15):k(i): tab (30 + (k(i) —m2)*30/(ml -m2)):**

next i
print
print
print
print

print



282
283
284
285
286
287
288
289
290
291

print
end
data
data
data
data
data
data
data

data

15.5,
500,
600,
710,
826,
906,
984,

760.7, 3, 2.5
351, 16, 520,
302, 15.4, 640,
240, 14.2, 753,
194, 19.6, 850,
154, 18.3, 925,
86, 15.4, 1000,

3. S5 R EmrER
(1) BURRGE A Rl E

the formulas

<= ,443 + .0073+p2 — .000087%p2 T 2

the calculation of the air permeanbility k

n=.0181%((273+1t)/273) T .79
Q=1.278*s*(760% (273 +t)*p2/(273%p)) T .5
k = 2«l#pxurq+1000/ (i* (2*p + pl + p2) *(p1/760 — p2/1033.6)

355, 18,

281,
219,
181, 20,
120,
77, 16.2,

# 42% 10% 500
the so ur ce data
=15.5 P =760.7 I =3 d =2.5
n h pi p2
1 510 351 16
2 520 355 18
3 530 340 17.5
4 540 302 15.4
5 550 281 16.3
6 560 263 15
7 570 240 14.2
8 580 219 16.4
9 590 203 17
10 600 194 19.6
11 610 181 20
12 620 170 19.5
13 630 154 18.3
14 640 120 17.4
15 650 103 16
16 660 86 15.4
17 670 77 16.2
18 680 74 17.5
19 690 62 13.6

550,
16.3,
16.4,
887,
17.4,

340,
680,
792,

960,
1030,

170,

17.5
263,
203,

103,
741,

27
28
29
30
31
32
33
34

35
36
37
38
39
40
41

15
17

19.5

16
17.5

700
710
720
730
740
750

770
780
790
800
810
820
830
840
850
860
870
880
890
900

910
920

60
59
58
55
50
50

30

29.4
27.8
25.1
33.3
39.6

53.4

67.5
71.3
88.9
102
103
112
117
126
146

13

13.2
13.5
12.5
14

15.3
14.7
15

15.2
15.6
16.7
14.8
13.1
12.6
10.8



W NN O e W N =

550
560
570
580
590
600
610
620
630
640
650
660
670
680
690
700
710
720
730
740
750
760
770
780
790
800
810
820
830
840
850

860
870
880
890
900
910
920

the report of the air permeanbility calculation
k(md)
58.8873 *
62.7992 +
64.9728 *
68.8894 *
78.019 *
79.8711 *
85.8247 *
105.404 *
118.182 *
137.772 *
151.819 *
160.663 *
172.616 *
223.749 »
252.06 *
303.842 *
361.804 *
405.023 *
409.975 *
411.538 *
425.368 ' *
442.549 *
443.727 *
550.784 »
596.403 *
1075.96
1218.66
1279.62
1452.83
1934.22
1020.55
704.999 *
463.283 *
309.6656 *
270.683 »
198.174 *

156.918 *
161.492 *
140.123 *
129.058 *
113.726 *
98.1124 *
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the calculation of the air permeanbility k

the formulas

s=,443+ .0073#p2 — .000087+p2 T 2
u=,0181«((273+t)/273) 1 .79

qQ=1.278%5%(760% (273 +t)*p2/(273¢p)) T .5
k=2«Isprusqe1000/(f*(2¢p + pl + p2) «(p1/760 — p2/1033.6)

# 25% % g

=15.5
h

W N =

[V=J IS B NS ) I

10
11

O 9 DO W DN -

DO DN DN DN e = e e e e s ek e
W N = O Wm0 s W = O ©

24
25

500
520
550
600
640

850
887
906
925
960
984
- 1000
1030
1050
1075
1089
1110
1140
1165
1194

the so ur ce data
P =760.7

1 =3

P1

351
355
340
302
281
263
240
219
203
194
181

the report of the air permeanbility calculation

k (md)
58.8873
62,7992
64.9728
68.8894
78.019
79.8711
85.8247
105.404
118.182

137.772
151.819
160.663
172.616
223.749
252.06

303.842
361.804
405,023
409.975
411.538
425.368
442,549
443.727
550,784
596.403

d =2.5
p2

16
18
17.5
15.4
16.3
15
14.2
16.4
17
19.6
20

12
13
14
15
16
17
18
19
20
21
22
23
24
25

887
906
925
960
984
1000
1030
1050
1075
1089
1110
1140
1165
1194

170
154
120
103
86
77
74
62
60
59
58
55
50
50

19.5
18.3
17.4
16

15.4
16.2
17.5
13.6
13

13.2
13.5
12.5
14

15.3



